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ALL INDIA SAINIK SCHOOL ENTRANCE EXAMINATION : 2014 . -
PAPER | - MATHEMATICS AND SCIENCE i
CLASS —IX o : ) :
Time: 2% hrs ST Max Marks: 275
Notes:-
{(a). This paper contains two parfs -~ Part ‘A’ is Mathematics and Part ‘B‘ is Sc:lence You are
required to attempt ALL questions in each part.- - -
(b): - Part'A’—(Mathematics) bearing 50 questions. Marks are mdlcated agamst each questlon
(c). Part ‘B’ — (Science) contains-37.questions. Marks are md:cated against each ques’flon ’
{d) Rough work is to be done at space provided'only.
(e) Write alt your answers in Blue or Black ink only. Do not use pencil.

. This booklet contains 30 pages.

PART ‘A’ ; MATHEMATICS .
’ AR (Total Marks : 200)
Instructions: Q1 to Q20 bear 2 marks each : ‘- P .o (2x20=40)
Q1. Find two rational numbers between p and P and.'r@p_resen't ’tbérn in nuimber Jine. |
Q2. Simpl’rfy - 375 x 1075 x 125 L
. . 577 x 675 T '

Q3. Fifteen years from now Mohan's age will be tlmes his present age What 13 Mohans age

- - after five years from now, .

. Q4. Find- the [east number of three digits which js- greater ’rhan 100 and a perfecl square

Q5. Flnd the val ue of x* ‘m, glven x— 3-7

Qe, Resolve mto factors
: * e 32y - 4y%

Q7. Find the cube root of 91125. _ T g :

Q8.  There are certain number of row of trees in’ a garden “The number of trees in each row is
twice the number of rows. If the numbar of treés in the garden is 1250, then the number of
rows in the garden is

Q9. The marked price of an item is Rs 1200 Fmd the dlSGOUn’t percentage allowed on the ltem n‘
it Is sold for Rs.1050. )

Q10. A man borrowed Rs 16000 at 10% per annum fnLerE}St compounded half yearly Find the
amount repayable after one year.

Q11. The four angles of a quadrllateral are in the ration 1:2:3:4. Find the measures of the angles

Q12. What must be added to 4x% — 12x + 7 to make it a whole square

Q13. (129%%is equalto

(@ -, 1299 ... b} -1292» - (6 1297 "('d)'l.:129“‘
Q14. " The mean of the first ten natural nuimbers is e o
C) 510 (b) 5.5 (c) . (d) 8.2

Q15; Divide a sum of Rs 10 between two persons A and- B such that A gets Rs 1 more than B:

Q16. The 'sum of two numbers is 45 and their ratio is 7:8 Find the numbers. °

Q17. 1f56 men can do a piece of work in 42 days, how many men will do it in 14 days?

Q18. i - ) A
A D

23 —*d + dn§
91662:5. b
5.0& x I-x8 :
C.

ln ‘the above fi igure, ABCD is a parallelogram find at! the angles of the parallelogram xf
. . measure of'angte.DCX = 130°, -

B X

: .-.6219, A'man loses 20%: of his.money. After spendmg 25% ofthe remamdef he has:Rs 480,00 left.

How much money did he originally have?

" Q20- By selling a towe! for Rs."126.90 a shopkeeper | c;ses 6% For how much should he sell- the

towel fo gain 4%.

-Instructiohs® Q@ 21'to Q 40 bear :§ marks each g T RT e T " (3)(20 =80)

Q22.  The digits of a two digit number are such ihat one is tw:ce the other When the digits- are

" interchanged, the new number obtained is greater than the onglnal number by 27. Find the
- number. - - . : .- :

Q23. Solve

"4

— —




Q24. Evaluate: R S BUNICY B S e .
1 . . ) ’ . ";._:‘-2:- k 2’ : -'.
(.:_. ;)4’ - . ’ : . ACN .\_ :-—‘
X (—D°] o
L Bk
Q24. -Ifa #+ —-27 then ﬁnd the value cf a«z . . Lo : 3
Q25, -A-well i rs diig 20m deep and has a-didmetér of 7 The earth whlch is so dug but is spread
evenly on ‘@ rectangutar plot 22m long and 14 m- broad What is the helght of ‘the platform
formed? _
Q26. Find the area in sqom of a rhombus whose 5|de is ‘[7cm and one of its dlagonais Is 30cm
Q27. The marks obtained by 40 students in Mathematics are given below: -
69, 59, 49, 39, 84, 68,77, 48, 47, 57, 46, 41,44, 67, 57, 45, 34, 36, 87, 89, 65, 41, 84, 78, 52
49,75, 37, 38, 42, 73, 31,-34, 37, 56, 58, 64, 85, 81 and 62.
" Basedon the above data the frequency of the class 60-70 is
Q28. - An article with a marked price of Rs 800 is available at a discount of 18% Find the discount
given and also the price at which the article is avalfable for sale
Q29. If 534 = 25 x 541 find the value of x.
Q30. Walking at 4 km an hour, a person reaches his office 5 mlnutes late if he walks at & km an
hour, he wﬂj be 4 minutes foo early. Then the distance.of his-cffice from his residence is
Q31. The Intemal- maasures of a cuboidal rocem are 12m x 8m x 4m. .Find tr\e total cost of
whitewashing all four walls of the room,; if thé cost of whitewashing'is Rs & per square metre.
What will be the cost of whitewashing if the ceiling of the room is also whitewashed?
Q32, What least number must be subtracted from 2200 so as to gét a perfect square? .
Q33. A garrison of 2000 men has a provision for 15 weeks. How many men must leave so that the
same provision my tast for 20 weeks? _ -
Q34. Multiply {(a* + b*+ ¢*— ab — bc —ca) by (a+b +¢)
. Q33.  Construct a histogram for the frequency distribution below: .
Class Interval .20-30. 30-40 .~ 40-50 50-80 60-70 -
Freguency 5 B 3 B - 7
Q36. Solve _ |(Z)0
57 . 28 P
X G
(—)3
Q37. Pipe A can ﬂi a tank in 14 minutes, pipe B can filf it in 7 minutes and plpe C can empty the
full tank in 28 minutes. If ali of them are opened simultaneously, find the ’zlme taken to fill the
empty tank,
Q38. Four pipes § cm each in dlameter are to be rep!aced by a single pipe drschargmg the same
quantity of water If the speed of water remairis same in both the case find the drameter of
the single pipe. S
Q38. Reduce the following expressmn mto Iowest term
a% — b%— 2bc— c? i
a* + 2ab + b* — ¢? )
Q40. Simplify: Bxtyt
2x7t x 4-.yx
Instructlons Q41 to Q 50 bear10 marks each _ L. - {10x10=100)
Qtﬂ. A wllage ha\nng a populatlon of 4000, requires 150 htres of water per head per day.-lt has a
© .7 tank which is.20 m long, 15m broad ang 6 m hlgh For how’ many days erE the water of this
tank last? Given 1 m® = 1000 litres.
Q42.. The sum-of the ages of a father and his son is 50 years .5 years ago father's age was 7
times the son’s age. Find thelr present ages. s v :
Q43. (a) Solve the linear equation x— 0340052 =2 —1—4x
(b) The sum of the digits of a certain two digits.numberis 7. Reversing its digits
_— increases the number by 9. What is the number? . .
Q44 - Construct a trapeziurm ABCD in whlch AB & CD are parallel AB ch ) -j- ~ DC=35cm
: <A = 55° AD = 3.,5cm. C
Q45. Parikshit made a cuboid of plasticine hawng dlmenswns 2om, Sc:m, 5cm. What is the
minirnurm number of such cuboid required to make a cube?
Q46. A horse is tethered in a corner of a rectangutar plot 40m by 36m with a rope 14m Iong Find

the area over which it can graze.




Q47. The pie chart below shows how Mr. Davis distributes his monthly income into dimerent

- household expenses. 5 o -
’ ’ . = ‘ « ernt -

Grocery

R :Eahng out

i ""Entertamment

R Other -

LR .r
- NS r

(a)  In which of the above categones does Mr Davrs spend the greatest portlon of hxs o
income? ;
(i) Grocery * i) Entertamment (ul) Eatmg out (w) " Rent
(b) What portion of the monthly income does Mr. Davis speﬂd on entertainment? -
)] 10% (i 20% (i) 30% © (iv} 25%
(c) What fraction of the monthly income does Mr Davis spend on groceries? - s
. 1 “ o LE ¥
O (BT R S ) ,
(d) if Mr. Davis eams Rs 2,000/~ per month, how much does he spend on grocenes’7

{H Rs 1,000 (u} Rs 250 (m) ~ Rs 800 (iv} "Rs 700 -

. (&) What is the rat;o of expendlture between entertamment and grocery’?
- 3.4 (i 45 (i) 35 v ‘none of these

Q48. A man boug'ht & TV and washing machiine for Rs 8000 each: He then sold the TV at a loss of
3 - 4% and the washing machlne at a proft of Rs 8%. Find ihe overail gain or loss percentin the
whole transactron . y

[

Q49, Factorrse the followmg
(@) mZ+ n-—-mn—m
[{s)] £+ 12x2% f 64

Q50. (a) Solve (4x2 + 7x3y?) — (-6x2% — 7x3y? —4x) — (10x+ 9x%) ..
()] Using the identity {x+a) (x+b) = x*+ (a+b)x +ab :
Solve 107 x 108 " S s 5"

ek A ke e ek R kb

PART ‘B’ : SCIENCE - S

Note Part B conta[ns 37 questlcms beanng 75 marks. QUes’(lon No. 1 to 15.are multiple choice
) questions carrying 1 mark: ‘each, Question - No 16 to 25 carry 2 marks each Question No. 26 to 35
carry 2 marks each, Quasﬂon No.! 36 & 37 carry 5 marks each :

For Q1 to Q15, do as directed S . “{1x15=15)

Fill In the blanks.
Q1.  Blue green algae fix directty from air to enhance feriility of soll.

Q2.  Species found only in a particular area is known as
Q3.  Synthetic fibres are synthesized from raw material called
Q4. Phosphorus is a very non metal.

Q5.  Process of separation of different constituents from petroleum is cailed

Select the correct Answer.

Q6. The most common carrier of communicable diseases is
(a) Ant  (b) Housefly (c) Dragonfly (d) Spider

Q7. Which of the following can be beaten into thin sheets

(a) Zinc () Phosphorus () Sulphur (d) GOxygen
Q8. Unwanted sound is called as

(a} Music (b) Pitch (c) Noise o (d) Shiill

Q8. The process of depositing a layer of any desired metal on another material by means
electricity is called.
(a) Mixing (b) Electrolyting (c) Electroding (d) Electroplating




Q10. Which of the following is-NOT a planet of the sun? ‘ SR ~

Mark T' if thé statément is True and  if it is Falsé;

©

@  SiuS . --(b) © Mercury (¢)  Satim .(d) Earth

Q11.  Generally,-non metals react with acids. QR R e
Q12. Coke is almost pure form of carbon. N
Q13. Kerpsene is not a‘fossil fuel. ()
Q14.  Unicellular organisriis Have one celled bady. {( )~ .
Q15.  An embryoe is made Up of a single cell. _ ( .) .
Write answers within the space provided under the questions:- {2x10=20}
Q16.  Does pure water-conduct electricity? ff not what can we do fo make it conductive. .
Q17.  Explain why gliding friction is less than static friction. P a——
Q18. A pendulum gscillates 40 times in 4 seconds, Find its time period and frequency.
Q19. . Define A _ ' '
(8"  Force of Gravity ................ A SR S
(b) PIBSSIIIG s 4555 fimmenmone sommpsmsmssymses
Q20. Define adolescence - T o
Q21.  Give two differences between Zygote and fostus - - .
Q22.  Nylon is used for making parachutes, car seat beits and ropes for rock climbing. Why?
Q23. . List condition under which combustion can take place. _
Q24.  List two advantages of using CNG & LPG as fuels. .
Q25. What is malleability? Give two examples of malleable metals.
Write answers within the space provided under the questions;- T (3x10=30)
Q26.  What is Marble Cancer? Write the air poliutants that are affecting the beauty .of Tajmahal.-.
Q27. Why is.the distance between stars.is is expressed in light years? What do you understand by
the statement that a star Is eight light away from the earth? e ¢ s
Q28, Explain why plastic containers are favoured for storing food?
Q28. .What are the major groups of micro organisms? '
Q30.  What is consteliation? Name any two consteliation. ot atEe .
Q31. Explain the reason why water is not used to control fires involving electrical equipment?
Q32.  Why Sodium and Potassium are stored in kerosene? )
Q33. Why are children / infants given vaccination?
Q34, Briefly explain types of combustion.
Q36. Draw labeled diagrams of plant celt and animal cell
Q36. Write short notes on '
(a) Cytoplasm.
(v) Nucleus of a Cell
Q37.  Briefly answer the following questions.’

(a) Why porters place a round piece of cloth on their head when they have to carty a
.. heavy load? - - . sg Wy 8w 2,  zoomg -0 A8 marks)
(). - -An inflated balloon was pressed against a wall after it-had been. rubbed with a piece
of synthetic cloth. It was found that, the balloon sticks to the walls. What force might
- ‘be responsible for attraction between the ballooh énd the'wall? . (2 marks)
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